LEMCO

80-200 VIISion Sources
Molybdenum and Tungsten
Non Vaporizer Standard and Enhanced

52050W

52050A
52050M

512.259.0320 glemco.com PO Box 217
800.621.9598 sales@glemco.com Leander, TX 78646
Glemco®- Any unauthorized use and or duplication of any material from this media without express and written permission from Glemco is strictly prohibited.
G-30-100VIS80-200 Rev 01



QiLciMCco
52050A Arc Chamber Components
1

52013A Repeller 2
2 52016 Insulator 2
3 52017A Insulator, Repeller, Enhanced 2
4 52020AG Repeller Insulator Shield, G 2
5 52022 Filament 2
6 52047A Support Plate, Arc Chamber 1
7 52080 1pc Arc Chamber 1
8 52081 Top Plate, Mono 1
9 52085 Filament Insert 4
10 52086 End Liner, Arc Chamber 2
11 52087 Gas Nozzle, Arc Chamber 1
12 52088 Liner Plate, Arc Slit 1
O 13 52089 Base Liner, Vap 1
14 52090 Side Liner, Vaporizer 1
15 52091 Side Liner, No Vaporizer 1
16 52092 Gas Tube, 1pc Arc Chamber 1
17 52131 Vaporizer Nozzle 2
18 52132 Gas Feed Tube Retainer 1
19 82639 10-32 x 1/4", SS, BHSS 2
"_';‘-.ﬁ'.f )
1 ( )f
9
g
Glemco® - Any unauthorized use and or duplication of any material from this media without express and written permission from Glemco is strictly prohibited. Glemco® - Any unauthorized use and or duplication of any material from this media without express and written permission from Glemco is strictly prohibited.

2 G-30-100VIS80-200 Rev 01 3 G-30-100VIS80-200 Rev 01



QiLEMCo

52050M Arc Chamber Components

1 52013AM
2 52015

3 52016

4 52017

5 52020

6 52022

7 52023M
8 52024MA
9 52026M
10 52033

11 52034M
12 52045M
13 52046M
14 52047M
15 52048M
16 82412

DESCRIPTION

Repeller, Threaded, Molybdenum

Filament Insulator

Insulator

Insulator, Repeller

Repeller Insulator Shield, Ta
Filament

Side Plate with Gas Port, Mo
Base Plate With Vap Ports, Mo
Side Plate, Mo

Gas Tube

Mounting Stage, Bottom, Mo
Top Plate, Mo

End Plate, Mo

Mounting Stage, Mo

Mounting Stage Side Plate, Mo
6-32 x 1/4", SS, SHCS

2
4
2
2
2
2
1
1
1
1
1
1
2
1
1
2

Glemco®- Any unauthorized use and or duplication of any material from this media without express and written permission from Glemco is strictly prohibited.

4

G-30-100VIS80-200 Rev 01

QiLciMCco

52050W Arc Chamber Components

L

DESCRIPTION

1 52013A Repeller

52015 Filament Insulator
3 52016 Insulator
4 52017 Insulator, Repeller
5 52020 Repeller Insulator Shield, Ta
6 52022 Filament
7 52023 Side Plate, Gas port, W
8 52024A Base Plate, W, W/out Vap Ports
9 52026 Side Plate, W
10 52033 Gas Tube
11 52034M Mounting Stage, Bottom, Mo
12 52045 Top Plate, W
13 52046 End Plate, W
14 52047M Mounting Stage, Mo
15 52048M Mounting Stage Side Plate, Mo
16 82412 6-32 x 1/4", SS, SHCS

olo

op

o .

N = a2 s aaaNDNNDNNNN AN

Glemco®- Any unauthorized use and or duplication of any material from this media without express and written permission from Glemco is strictly prohibited.

5

G-30-100VIS80-200 Rev 01



@LEMCO

1 52018
2 52028
3 52029
4 52030
5 52031-2
6 52032
7 52035
8 52036
9 52037A
10 52038
1 52039
12 52040
13 52041
14 52042
15 52043
16 52044
17 52052
18 52055
19 52056
20 52058
21 52059
22 82058
23 82189
24 82191
25 82287
26 82411
27 82412
28 82420
29 82430
30 82433
31 82436
32 82445
33 82631
34 82733
35 82734
36 82755
3i 82912V
38 82915V
39 83137
40 83701
41 83702
42 83703
43 83704
44 83724
45 8A468
46 8A850
47 8A851

Universal Source Components

Insulator

Filament Clamp, Threaded
Silver Strap

Washer, Set

Retainer Hook

Anchor, Extension Spring
Source Clamp

Internal Reflector

Blankoff, VVaporizer, Modified
Blankoff Clamp

Feedthru

Source Handle #1

Source Handle #2

Alignment Tab

Body

Gas Feed Tube

Silver Strap

Source Handle #1, Standoff
Source Handle #2, Standoff
Feedthru Screw Insulator
Feedthru Insulator

Extension Spring, SS

1/4-20 x 3/4", SS, Set Screw
5/16-18 x 3/4, SS, Set Screw
10-32 x Y .250 x .188, SS, Shoulder Screw
6-32 x 3/8", SS, SHCS

6-32 x 1/4", SS, SHCS

6-32 x 5/8", SS, SHCS

8-32 x 5/8", SS, SHCS

8-32 x 1", SS, SHCS

10-32 x 5/8", SS, SHCS
1/4"-20 x 3/4", SS, SHCS

8-32 x 3/8", SS, BHSS

8-32 x 3/8", SS, Set Screw, Vented
8-32 x 3/8", SS, SHCS, Vented
.25" OD, 1ft, Poly, Tubing

-012, Viton, O-Ring

-015, Viton, O-Ring

-237, Buna, O-Ring

QC Series, Key 1, Fitting

QC Series, Key 2, Fitting

QC Series, Key 3, Fitting

QC Series, Key 4, Fitting

1/4 Tube x 1/8 NPT, Male Connector Fitting
10-32 x 5/8", SS, FHSS

10-32 THD, Adjustable, Elbow Barb Fitting
10-32 THD, Straight Barb Fitting

N = N = =2 N = =2 BN =2 WD D 0ODN B

= o5 BN 2N A~ G

_‘_\
]

o N W -

8
As Needed
4

O N © N = A o a N

Glemco®- Any unauthorized use and or duplication of any material from this media without express and written permission from Glemco is strictly prohibited.

6

G-30-100VIS80-200 Rev 01

Glemco®- Any unauthorized use and or duplication of any material from this media without express and written permission from Glemco is strictly prohibited.

7

G-30-100VIS80-200 Rev 01



